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QUIZ-01

1. i & T P11 TSTEIAT e T 3HH BI-HT IFed
glare?
A. AfRP 317 B. ATsféep 317t
C. TR 317cT D.UfEféd 3t/ (B)
&gr&gT: A1 A A1sfées 317t 81dT €, 511 54 Wgl §1dT &
2. BTE3IaeRa® 317 3R 5 & st srfufebar & di-at
T fApadt a2
A. 31T
C. BTsgI5H

B. ATSEI5H
D. I STS3HITSS
©
T&RT: 317 3R UTq bt 3HIhAT & 8Tea!sH 1149 3cud
gldl 81 (HCl + Zn — ZnClz + Ha1)
3. 51§ YT Pla e 37+ A HIBATHIAT 8, dl T 3cTq
FIdE?
A. THS® 3R gt B. doaret UTHt
C. A, UTHT 31k CO:» D. dadl e18a151 314(C)
TR : e BIEIC 3R 3777 bl HIhAT I THb, Tt
37R BIe STS3HTRITES Id &8l
4. 377 3R &R 1 319 H 31fWishaT Bl T Ped e?
A. fazamoe srfufdsar B. T 31ffchan
C. deweftasoT 3rffdsar D. 319ged 31fHfdhar (C)
T&gT: 37 + &R — THD + 5707, g deLefiprur
(neutralisation) 31MHfgsaT 81
5. BI-ATHdbdP (indicator) 37Fe(d ATETH | oITet 3R

ST TR § UTATIT qare?
A. foteng B. THR®
C. fRTEe 3151 D.fhAleded  (C)

7T THATSeT 31RST 3 H ATe 3R & o o 37
fearar &l

6. IR 31T URY BTIMTIfeb G T 87
A. CaSO42H.0 B. CaCO:s

C. CaSO+%H,0 D. Ca(OH)»
ST : TR 3% URY &) I9TIfAd 39 I

©

CaSO.4-Y4H.0 SRIf g1 5ITaT 8|
7. pH A 1 dTet faeta &t vepfa a1 gpit?
A. dcE B. 37cfeidh 3TFeitd
C. &R D. 37cdfeid &fRia (B)

74T : pH 1 goIfdT & fdb faeTad sreaafelas 3rvefia |
8. "SI HIST BT AT feh ATH T 872
A. HIfSTH FARTES B. AIf$TA Bleic
C. HIfSgH erggIsidbIdie D. HIf$TH BTegIdTes
©
7T SfdI1 FIsT = Sodium Hydrogen Carbonate =
NaHCO:s
9. 5Td BIUR Hebe &b febtea B 7TH fHATSTAT 8, A -1
BIATe?
A. {11 3T 7T&71 81 STl &
B. € YTl Blgd & 3iR dthe el 5TTd &
C. €Tg315H I Hdbardt &
D. BlIg URddd 78t erdr (B)
7T : BIR Fotbe H 5TcT fehicildhiul BidT 81 ITH B
IR g S et STTdT & 31R I€ tbe & 577dT &l
10. pH T el WR 7 § BH HF &7 31ef RIT8?
A. &R B. de¥

C. 3FaA T D. 3 qfeia
&7 : pH < 7 €14 BT Haod fdeidd 37wt gl

©




